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1 Introduction
In Montreal meeting, there was some discussion on UE RF requirement for CA. It was proposed that current LTE ACLR requirement should be applied to LTE-A ACLR. Following comments and way forward were captured from the UE RF adhoc session [3].

Comments:

· PA linearity assumptions

Way Forward: 

· Evaluate further MPR to meet Rel-8 ACLR 

Use Rel-8 guardbands until agreement for REL-10 is reached
In this paper, we evaluated MPR to satisfy current Rel-8 ACLR requirement
2 Simulation result

To find out proper MPR, the same simulation assumption is used as [1][2]. Table 1 and Figure 1 shows required MPR to meet the Rel-8 ACLR requirement. For each RB allocation, possible location was simulated as in figure 2-12 and worst case MPR is picked and listed in table 1. Detailed spectrum results can be found in figure 2-11 in appendix. As you can see, 2-3 dB MPR is needed to satisfy Rel-8 ACLR.
Table 1 MPR for Rel-8 ACLR

	
	100RBx2
	50RBx2
	25RBx2
	10RBx2
	1RBx2

	MPR
	2.5
	2.97
	2.7
	3.09
	1.804
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Figure 1 MPR for Rel-8 ACLR
3 Observation and Discussion
As you can see from section 2, 2-3dB MPR is required to meet the Rel-8 ACLR requirement. Recently, LTE-A co-existence simulation was done and captured in TR 36.942. We may need to double check current Rel-8 ACLR requirement is still satisfied with the UL co-existence simulation result. For LTE-A CA more MPR is needed with Rel-8 ACLR requirement. That means we will lose some UL coverage with increased MPR. If we want to keep same Rel-8 MPR, there should be some study on finding some room to relax ACLR requirement from co-existence simulation result.
4 Conclusion

In this paper, simulation to find MPR to satisfy Rel-8 ACLR requirement was done. From the simulation result, 2-3dB MPR is needed to meet the current Rel-8 ACLR requirement. It can be summarized that we need to increase MPR for current Rel-8 ACLR requirement or relax ACLR requirement to keep same MPR as Rel-8.
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6 Appendix
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Figure 2 100RBx2
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Figure 3. 50RBx2,  location for CC1: 0, location for CC2: 0
[image: image4.png]SpamumEmANE)

Spectrum

BB E g oB B o§o§oEogogohoEROE PR EHEEE oG
B % 8 B 8 & & 8 5 6 § 8 s 6 & 6 & 6 o 86 6 8 3 § & &
FrquencyGHe)
e a3 O BT A BT | AT UTAT L | ACT AR | AT AL | AT IR
B ] W Er e B am e





Figure 4. 50RBx2,  location for CC1: 0, location for CC2: 49
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Figure 5. 50RBx2,  location for CC1: 25, location for CC2: 25
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Figure 6. 25RBx2,  location for CC1: 0, location for CC2: 0
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Figure 7. 25RBx2,  location for CC1: 0, location for CC2: 74

[image: image8.png]Spacrum(BmMHE)

Spectrum

BB E g oB B o§o§oEogogohoEROE PR EHEEE oG
B8 6 B 8 & & 8 % & 8 5 s o6 & 6 & 6 o 8 8 8 3 Boh
FrquencyGHe)
e a3 O TR A BT | AT UTAT L | ST AR | AT AL | AT IR
Er 6 EE) s wan e was W





Figure 8. 25RBx2,  location for CC1: 25, location for CC2: 50
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Figure 9. 10RBx2,  location for CC1: 0, location for CC2: 0

[image: image10.png]Spacrum(BmMHE)

Spectrum

2

BoB D oB B @ B B o3 § &8 E SoBob§oFOEOEOH OGO & B g o:o@
B F 8 B 8 & & & 5 8 & 8 s o6 & o8 & 8 o 8 4 8 Boh
FrquencyGHe)
e a3 O BT A BT | AT UTAT L | ACT AR | AT AL | AT IR
nom T B Exn w i ) w0





Figure 10. 10RBx2,  location for CC1: 0, location for CC2: 89

[image: image11.png]SpamumEmANE)

Spectnyg

i
ma 7
P &

BB E oo b §o§o8ogogoBoEROE PR FHEGE LG EoE
B8 8 F 8 & & & 5 f % 8 5 B & & & 6 o # 6 8 3 6 & 8 8
FrquencyGHe)

e a3 O BT A BT | AT UTAT L | ST AR | AT AL | AT IR
g o e £y ErTy @ wan w0





Figure 11. 1RBx2,  location for CC1: 0, location for CC2: 99
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Figure 12. 1RBx2,  location for CC1: 49, location for CC2: 49










